

### PAS Property Acquisition Services, LLC

**November 30, 2012** Invoice #4116

Bill to:

Fort Bend County Engineering

1124-52 Blume Rd.

Rosenberg, TX 77471-1149

Remit to:

PAS Property Acquisition Services, LLC.

19855 Southwest Freeway, Suite 200

Sugar Land, TX 77479

(281) 343-7171

Project Name:

Fort Bend County

P.O. #23886

Locations:

FM 359

Trammel Fresno

Florence Rd

Ransom Road

Voss Road

**Falcon Landing** 

Harlem Road

FM 1464

Katy Flewellen

FM 762

Moffett Road Extension Greenbusch

Katy Gaston

Cottonwood Spur 10

Florence Rd.

**HWY 36** Dulles

South Post Oak

Emergency Mgmt.

Burney

Work Requested: Performed Right-of-Way Services for Fort Bend County

Acquisition	Rate(S)	Hous 🔑	Autounis(8)
Right-of-Way Agent	75.00	286.50	21,487.50
Right-of-Way Assistant	40.00	30.25	1,210.00
Totals		316.75	\$

Amount (\$

**Total Expenses** 

Total \$

CONTRACTOR BILLING SUMMARY 1,850,000.00 Estimated Cost 1,595,548.82 Previous Amount Invoiced 254,451.18 Previous Funds Available 22,697.50 Current Amount Invoiced 231,753.68 Remaining Funds Available

Terms: Total due upon receipt

### PAS Property Acquisition Services, LLC.

Job Detail

Location:

Spur 10

Work Requested: Acquire Right-of-Way for Road Realignment

Acquisition	<b>Rate (\$)</b>	Hours	Amount (\$)
Right-of-Way Agent	75.00	247.00	18,525.00
Right-of-Way Assistant	40.00	24.00	960.00
Totals		271.00	\$ 19,485.00

**Expense** See Expense Summary Sheet **Total Expenses**  Amount (\$)

Total \$ 19,485.00

Location:

Burney

Work Requested: Acquire Right-of-Way for Road Realignment

Acquisition	<b>Rate (\$)</b>	Hours	Amount (\$)
Right-of-Way Agent	75.00	6.25	468.75
Right-of-Way Assistant	40.00	1.00	40.00
Totals		7.25	18 4 508 K

Expense Amount (\$)
See Expense Summary Sheet 0.00

Total Expenses \$

Total \$ 508.75

Location:

FM 359

Work Requested: Acquire Right-of-Way for Road Realignment

Acquisition	<b>Rate (\$)</b>	Hours	Amount (\$)
Right-of-Way Agent	75.00	0.25	18.75
Right-of-Way Assistant	40.00	0.25	10.00
Totals		0.50	18 14 28 JS

Expense
See Expense Summary Sheet
Total Expenses

Amount (\$) 0.00

Total \$ 28.75

## PAS Property Acquisition Services, LLC.

Job Detail

Location:

West Belfort Pipeline

Work Requested: Acquire Right-of-Way for Road Realignment

Acquisition	<b>Rate (\$)</b>	Hours	Amount (\$)
Right-of-Way Agent	75.00	21.00	1,575.00
Right-of-Way Assistant	40.00	2.00	80.00
Totals		23.00	<b>8</b> 1.65500

Expense See Expense Summary Sheet **Total Expenses**  Amount (\$) 0.00

Total \$ 1,655.00

### PAS Property Acquisition Services, LLC.

Job Detail

Location:

Cottonwood Church Rd

Work Requested: Acquire Right-of-Way for Road Realignment

Acquisition	<b>Rate (\$)</b>	Hours	Amount (\$)
Right-of-Way Agent	75.00	1.25	93.75
Right-of-Way Assistant	40.00	1.00	40.00
Totals		2.25	18

Expense See Expense Summary Sheet **Total Expenses**  Amount (\$)

Total \$ 133.75

Location:

Brand Ln

Work Requested: Acquire Right-of-Way for Road Realignment

Acquisition	<b>Rate (\$)</b>	Hours	Amount (\$)
Right-of-Way Agent	75.00	4.00	300.00
Right-of-Way Assistant	40.00	1.00	40.00
Totals		5.00	\$35 - SE0.00\$

Expense See Expense Summary Sheet **Total Expenses**  Amount (\$)

Total \$ 340.00

Location:

Kroesche Rd Bridge

Work Requested: Acquire Right-of-Way for Road Realignment

Acquisition	<b>Rate (\$)</b>	Hours	Amount (\$)
Right-of-Way Agent	75.00	6.75	506.25
Right-of-Way Assistant	40.00	1.00	40.00
Totals		7.75	#154625#

Expense Amount (\$)
See Expense Summary Sheet 0.00

Total Expenses \$

Total \$ 546.25

PROPERTY ACQUISITION SERVICES.
LLC.
19855 Southwest Freeway, Ste. 200
Sugarland, TX 77479
281-343-7171

FM 1484 Spur 10 FM 359 Voss Rd Trammel Fresno Employee Signature mank Heidader Project Name/Description para isang panggan ang panggan panggan panggan ayang panggan panggan panggan panggan panggan panggan panggan p 1.75 2.00 11/30/2012 Date 1.75 1.25 1.25 1.25 0.75 0.75 0.50 0.50 0.50 0.25 0.25 11/30/12 Date

12.75



Manager Signature

Date

PROJECT TIME SHEET Fort Bend County

PROPERTY ACQUISITION SERVICES, LLC. 19855 Southwest Freeway, Ste. 200
Sugarland, TX 77479
281-343-7171

PROJECT TIME SHEET
Fort Bend County

Lisa Cisneros

Employe Signature Wanager Signature	N. J. D.										1	Spur 10 - RELOCATION	Project Name/Description	
Julio	AL ALL												elDescription	
												6.00		
Date Date	11/20												Al 2 3 4 5 6 1 8 9 0 1 1 2 33 14 5 15 16 12 13 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	
Fr Fr	2	MICOL				N S S S S S S S S S S S S S S S S S S S				a fait	180	4.50 2.00	4 5	
,	-											8	List bel	
	F												ow the nu	
													100.000	
					20013	3.98						5.00	ours work	
												5.00 3.50 4.00	ed each o	
	-	+											ay on eac	
													h individu	
		J. 458.		Acide								4.00 5.00	al project	
												.00	to which	
	-	+									_		you are a:	
													signed.	
												3.00 2	97. [6	200
	-	+	-								-	3.00 2.50 1.50 2.50	24 .28	200
	F	1									_	2.50 1.00	dividual projectio which you are assigned.	200
Property Acquisition Services, LLC	44.50	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0 44.50	Total Hours	

PROPERTY ACQUISITION SERVICES, INC. 19855 Southwest Freeway, Ste. 200 Sugarland, TX 77479 281-343-7171

Shelly Johnson NAME: (please print)

FM 1464 Phase I FM 1464 Phase II Spur 10 Katy Flewellen FM 359 Burney Rd Emergency Management Building Expansion Old Richmond Rd. FM 1093 Harlem Road Phase II larlem Road Phase I alcon Landing Blvd Dulles Ave. Project Name/Description Use below the number of hours worked sects day on sech individual project to which you are assigned. 2.50 2.00 3.00 1.00 1.00 0.50 2.00 0.50 0.25 1.25 1.00 7.25 5.00 1.00 0.25 0.75 2.00 1.50 0.50 0.50 0.25



32.75

0.00

0.00

0.00

0.00

PROJECT TIME SHEET
Fort Bend County

11/30/12 Date

Total Hours

0.25

0.00

PROPERTY ACQUISITION SERVICES, INC. 19855 Southwest Freeway, Ste. 200 Sugarland, TX 77479 281-343-7171

3.00 1.00 3.00 1.00 1.00 2.00 2.00 2.00 0.000	3	1	100000000000000000000000000000000000000	The Control of the Co	4.00 4.00	8	JUL 1.00 1.00 C	Suppose none	
Project Name/Description:   Distribution floores worked early day on each individual project to which you are assigned.	0.00	3.00 1.00 5.00 2.00 2.00 0.00	5.00 5.00 0.00 0.00 0.00 0.00	200 200 000 000 4	4 00 4 00	3	3		111
Project Name/Description:   Distribution in Thours worked each day on each individual project to which you are already and already and already and already and all already and already and already and already and already and all already and already and already and already and already and all already and already and already and already and already and all already and already and already and already and already and all already and									)
Project Name/Description:    Description:   Descrip	0.00								
Project Name/Description:	0								
Project Name/Description:         Distribution of number of floors worked leader day on each individual project to which you are assigned.         Household to which you are assigned.           Freeno         3.00         1.00         3.00         3	0.		0.15						
Project Name/Description:   List below the number of hours worked eacht day on each individual project to which you are assigned.	21.	1.00 1.00 3.00 1.00 1.00	1.00 3.00		1.00	2.00	1.00	1.00	W. Belfort Procline
Project Name/Description:  List below the number of hours worked eacht day on each individual project to which you are assigned.  Freeno  Free	9	6.77					160an		Burnev Rd
Project Name/Description.  Dist below the number of floors worked each day on each individual project to which you are assigned.  Freeno	39.	2.00 1.00 1.00	4.00 2.00	1.00 2.00	1.00 3.00 4.00		1.00	8.00 2.00	Spur 10
Project Name/Description:  Dist below the number of hours worked eacht day on each individual project to which you are assigned.  Fresno	0			78					Voss Rd
Project Name/Description.  List below the number of hours worked each day on each individual project to which you are assigned.  I Fresno	9.0		8						FM 359
Project Name/Description.  Ust below the number of hours worked each day on each individual project to which you are assigned.	0	i yi			-		10303		FW 1464
ect Name/Description.  List below the number of hours worked each day on each individual project to which you are assigned.	0					9 112 M. W.			Harlem
Discussion of the property of	9.0						0.550.0		Trammel Fresno
	STILL HOURS		oject to which you ar	if day on each individual	urs worked eac	st below the number of ho	D.		Project Name/Description.
		Date							CHRIS PROVENCE
PROVENCE		11169111							

11/29/12 Date

PROJECT TIME SHEET
Fort Bend County

PROPERTY ACQUISITION SERVICES, INC. 19855 Southwest Freeway, Stc. 200 Sugarland, TX 77479 281-343-7171

PROJECT TIME SHEET
Fort Bend County

Mark Davis NAME: (please print) FM 1464/2 Trammel Fresno F.M. 359 Goffview Voss Rd./ Old Richmond South Post Oak Burney Rd, Spur 10 Katy Gaston Katy Flewellen Ransom Rd. larlem Road Brand Ln. Cottonwood Church Road ireen Busch loffet Road Extension Project Name/Description 0.25 3.75 2.25 5.25 3.25 4.50 5.00 2.75 0.25 0.50 4.50 5.25 4.00 3.75 0.25 1.50 1.75 5.75 4.50 4.75 5.25 2.75 4.75 0.25 0.75 2.00 0.50 0.25 11/30/2012 Date Total Hours 76.00 0.00

Property Acquisition Services, Inc.

1.25

0.25 0.25

1.75 82.25

Manager Signature

Date

h soln

PROPERTY ACQUISITION SERVICES, INC. 19855 Southwest Freeway, Ste. 200 Sugarland, TX 77479 281-343-7171

Spur 10 Raymond Johnson NAME: (please print) Groesche Road Burney Road rand Lane Project Name/Description 3.00 2.00 1.00 1,00 2.00 1.75 2.50 1.00 3.00 1.00 1.00 1.00 1.00 1.00 1.00 3.00 2.00 2.00 2.00 2.00 1.00 1.00 1.75 3.00 1.00 2.00 2.00 2.00 2.00 2.00 1.00 11/30/2012 Date Total Hours 53.00 42,00 0.00 0.00 5.00 0.00 0.00 0.00 0.00

PROJECT TIME SHEET Fort Bend County